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package.cpath = "./?.50"
package.cpath = "./?.s0"
package.path = "./?.lua"
cjson = require "cjson”
config = require "config"

require "modbus3"

function modbus3Server load_station(svr, cfg)
for k, v in pairs(cfg)
do
print("modbus3Server load Station" .. cjson.encode(v))
modbus3Server.setStation(svr, cjson.encode(v))
end

end

function act_control(m, json)
for k, v in pairs(json) do
if k ~= "Act" then

modbus3.write(modbus30bj, cjson.encode({ ["'name"] = k, ["val"] = v }))
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end
end

end

function mqttdata_handle(m, topic, data)

local json = cjson.decode(data)

if json.Act == "Control" then
act_control(m, json)
end

end

function mqttsys_handle(m, code)
if code == 0 then
modbus3.stop(modbus30bj)
elseif code == 1 then
--modbus3.run(modbus30bj)
end

end

function modbus3_handle(obj, name, code, data)
mqtt.publish(mqtt30bj, name, "r", data)

end

function modbus3_load_collectnodes(obj, nodes)
for k, v in pairs(nodes)
do
modbus3.addcnode(obj, cjson.encode(v))
end

end

function modbus3_load varnodes(obj, nodes)
for k, v in pairs(nodes)
do
modbus3.addvnode(obj, cjson.encode(v))
end

end

function init()
mqtt30bj = mqtt.new()
mqtt.config(mqtt30bj, "", "gards.mixyun.com”, "31883", "aprusdev@aprus", "mixlinker123") --V8
user.setluaver(config.AprusX.luaver)
user.setdevinfo(config.AprusX.devinfo)
user.ipconfig(config.AprusX.ipmode, config.AprusX.inet_addr, config.AprusX.netmask)

end
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function start()

print(" <-----=------ooooeee- user lua start >")
init()
print(" <-----=------ooooeee- modbus3_init() >")

modbus30bj = modbus3.new("modbus3")
modbus3.config(modbus30byj, cjson.encode(config.MODBUS3.Device))
--modbus3.debug(modbus30bj, 0x01010001)

modbus3 load_collectnodes(modbus30bj, config.MODBUS3.ColNode)
modbus3 _load varnodes(modbus30bj, config.MODBUS3.VarNode)

print(" <-----------m--mmome- modbus3.run >")
modbus3.run(modbus30bj)
mqtt.run(mqtt30bj)

while true do
local msg = user.waitmsg()
if msg.from == "mqtt-sys" then
mgqttsys_handle(msg.session, msg.code)
elseif msg.from == "mqtt-msg" then
mgqttdata_handle(msg.session, msg.topic, msg.payload)
elseif msg.from == "modbus3" then
modbus3_handle(msg.obj, msg.name, msg.code, msg.data)
end

end

print(" <------------o-ooeee- user lua over >")

end

start()
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return
{
AprusX = {
ipmode = "none", --auto/manual/none
inet_addr = "192.168.1.234",
netmask = "255.255.255.0",
luaver = "VOO.R",
devinfo = "ModbusRtuDev",
2
MODBUSS3 = {
Device = {
portindex = 1,
rate = 9600,
databit = 8,
stopbit = 1,
parity = "None", -- None/Odd/Even
querylnterval = 100
b
ColNode = {
{ID =1, reg = "3", addr = 0, cnt = 20, dbName = "MOBUS_ID1A00B6" },
--{ID =2, reg = "3", addr = 0, cnt = 20, dbName = "MOBUS_ID2A00B6" },
2
VarNode = {

{ID=1,reg = "3" addr = 0, vartype = "flow", dtype = "float", cycle = 6, name = "L1 3 0 flow"},
{ID =1, reg = "3", addr = 0, vartype = "temperature", dtype = "float", cycle = 6, name =
"L1_3_0_temperature" },
{ID =1, reg = "3", addr = 0, vartype = "pressure", dtype = "float", cycle = 6, name =
"L1_3 0_pressure" },
{ID =1, reg = "3" addr = 0, vartype = "density", dtype = "float", cycle = 6, name =
"L1_3_0 density" },
{ID =1, reg = "3", addr = 0, vartype = "frequency”, dtype = "float", cycle = 6, name =

"L1_3_0 frequency "},
{ID =1, reg = "3" addr = 0, vartype = "cumulative_flow", dtype = "float", cycle = 6, offset =

"*100;+1;~1", name = "L1 3 0 cumulative flow"},
{ID =2, reg = "3", addr = 0, vartype = "flow", dtype = "float", cycle = 6, name = "L1_3 0 _flow" },
{ID =2, reg = "3", addr = 0, vartype = "temperature", dtype = "float", cycle = 6, name =
"L2_3_0_temperature" },
{ID =2, reg = "3", addr = 0, vartype = "pressure", dtype = "float", cycle = 6, name =
"L2_3 0_pressure" },
{ID =2 reg = "3" addr = 0, vartype = "density", dtype = "float", cycle = 6, name =

"L2_3_0 density" },
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{ID =2, reg = "3", addr = 0, vartype

"L2_3 0 frequency "},

{ID = 2, reg = "3", addr = 0, vartype

"L2_3_0_cumulative_flow" },

}

2.1 APRUS: EOE#

"frequency”, dtype = "float", cycle = 6, name =

"cumulative flow", dtype = "float", cycle = 6, name =

SH iz PiEA
ipmode "auto"/"manual"/"none" ip IRET =
inet_addr "192.168.1.234" APRUS 1] 1P Hutik
netmask "255.255.255.0" F R
APRUS ) L =8, SN
luaver "MAX.LUA.V032700.R" - 1 Lua AAR R, RIEEIRH
KEITES
5 APRUS %1514, & R 4T
devinfo "modbus3Dev" ; 5 TERBL TR F R AT

2. 2 modbus3-Device: OB

S Uiz 8
portindex B 12 RS485-1/2 11
rate B 2400/4800/.../15200 PR
databit AL, 5/6/7/8 AEIELDA
stopbit B 12 (E2IRDA
parity FHFE: Even/Odd/None L
2. 3 modbus3—-ColNode :RE¥ LB
2 & i 8
ID M 1~ B ID
reg TIP3 AR R
addr A, 0 KAER UG
cnt AL 20 KA FRATEL
PR 5 - R X
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2. 4 modbus3—-VarNode: F#RT5 BB 1%

S8 & TiHA
D AL 1~n W4 ID
reg FRE: 3 R EE s i)
addr AL, 0 B iG bk
FrrE: Al ot e e
It /—? :; Tratur:/w ressure/density/frequency/ LB R, R/ R A/ E
vartype e . .
P peratire® YIRMCUEREYT 1 o o 4 ) 2 -
cumulative_flow
dtype FrFE: float A E R
LR VRR
cycle B 0~n T 0: BlEE EIRERAHIE Bk
KT 0: B4R & EHREHA
offset ( ik bk B Bl . offset="*10; +5.123; ~1" £/~
1O ] - Tebl 10 FEANS.123 25 5RE 1 fi/hig
name R FIRAR




